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1./ Select the correct statement. 1, TE S A |
A) Acetobacter ‘aciti produce citric A) TR TR R whre 1 e
acid y
ERGIE
B)' Saccharomyces cerevisiae is used : . .
as/clotbuster B) TemEaE diffafa &1 I aeen
. e % w9 1 o o @
C). Penicillium notatum restricts the
growth of staphylococci C) Yffaferm Ao Rftre it gfa
D) Methenogens are found in aerobic il A 7 2
conditions D) SAE e Fqu e d
2. Read the statements and identify the
right option. 2. FU I Uo I aet Forshed T |
Statement |: Human liverfluke e | T T s A e

“ depends on two
intermediate hosts they
are snail and fish.

3t noeh ToeH WA wa g |

HU | ;37 T AN & S O

Statement Il : The life cycle of e
] Endoparasites are very SN w Sfler 5 g
simple because of their LR

extreme specialization.
A)' 'Statement | and Il are correct A) Fo | T 1] e

C) Statement l.is correct and li is :
incorrect Ou wHYH | .mlm.J.u || TeAa

- D) Statement | is incorrect andllis

T D) %94 | TeAd, 1| |l
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3. In the DNA molecule

A) the proportion of adenine in relation
to thymine varies with the organism

B) there are two strands which run
antiparallel onein 5 — 3 direction
and other in 3~ 5' direction

C) the total amount of purine
nucleotides and pyrimidine
nucleotides is not always equal

D) there are two strands which run
parallel in the 5’ — 3 direction

4. Which one of the following is wrongly
matched ?

A) Transcription — Writing information
from DNA to tRNA

B) Translation — Using information in
mRNA to make protein

C) Repressor protein — Binds to
operator to stop enzyme synthesis

D) Operon - Structural genes,
operator and regulator

A

3. DNA a1 3

A) mﬂuwﬁmmm@maﬂgﬁa%w
1Y FETar @l 2

B) A S N & > & i Rur i aik
I 8 - 5 R e dr

C) =i ~fFetensy 3R nsifter
feerieEed i $o WE e guE
T Tt

D) A A E S 5 — & e & wurRR
dtea &

4, T IS WA R 7

A) wfteiaT — DNA R tRNA & germaii 3t
Teran

B) 3qa1@ — mRNA & geait %1 39
T WA FTHT

C) e S — e et By
& o iR A s

D) 1 — wteeRs S, e7fme 3l
Fram= |
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(A

Select the incorfect statement.

A) Hybrid seeds must be produced
every year to obtain maximum
advantages of heterosis

B) Heterosis is lost by inbreeding

C) Apure-lineiis the progeny of alarge s

number of heterozygous self
pollinated plants

D) Genetic diversity is being or is
likely tolbe used inthe improvement
of domesticated plants

5. Which of the following is not an example
for degenerate codon ?

A) Leucine
B) Alanine
C) Tryptophan
D) Glycine

7. Which of the following/is not a
characteristic of Drosophila
melanogaster ?

A) They are dioecious flies
B) The genes studied _..é Morgan
found on different n_._aaomolmm

€) They show many types of heredity

variations

D) They complete their life cycle in
about two weeks-

5. 3 A eI T A |

A) R0 1 rftaR A ST F F
@mﬂiﬂmﬂ&ﬂﬂm@ﬁg
AT =AY

B) A gl FH T AR B W R

C) .ﬁﬂﬂ%%ﬂ%ﬂ&&
£ v 52 e i WA

D) ﬂﬁ@ﬂﬁ@ﬁﬂﬂﬂﬂﬂ&&#@ﬂn
3 Tugm BN G R

6. Tt ¥ A T wfiE FIeW & forg IwEW
TR ?
A) TR
B) UeTEd
C) Rdwm
D) TeEiEH

7. T A G AT F
aE e g 7

A) 3 st wfReal €

B) whi7 gra e fRa T S 3T
7T e o I e E

ovw%wﬂg&ﬁﬂw

D) e 3w A A g SfieT 9% A
0 FW
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8. Read the statements and identify the

8. Identify the mis-matched one,

right option :

Statement!: Due to continental drift
pouched mammals of

Australia survived.

Statementll: South America joined
North America due to
continental drift. -

A) Statement | and Il are correct

B) Statement|and | are incorrect

C) Statement | is correct and I is
incorrect

D) Statement ! s incorrect and Il is
correct '

A) Australopithecus — hunted with
stone weapons

B) Homo habilis ~brain capacity 650 cc
5 C) Homo erectus ~ ate meat

D) Modem man arose — 10 thousand
years back

T
8. i&ﬁﬁimﬁﬂ% |

wHUA| ; Fitreed TR% F Hrw
tefer & firen gan

TR &= M |

mﬁiﬁ%ﬁbﬁﬂ%ﬁ
& W Fieiea R ¥
HRT I |

waTll:

A) o | o || Tt
B) &9 | a9 Il et
C) ¥ | welt e oot |l ey

D) =97 | 7Iera aor 9T || u@

9. A I Y=Y |

A) ﬁﬁ.@.@m_ﬂmnﬁﬁwﬂ@qaw@«
&

B) S elfra — nftves i amet 650 oo
C) @&ﬁﬂﬁ:ﬂﬁdﬂm
D) smgfe we vl — o8 T ved

™
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Which of the following contains only
bacterial disease ?

“'A) Cholera, Typhoid, Pneumonia
B) Malaria, AIDS, Cholera
C) Typhoid, Tuberculosis, Influenza

D) Diabetes, Malaria, Syphilis

Diversity of which of the following given

groups are maximum ?
A) Fishes .

B) >_m.mm

C) _u....EE

D) Amphibians

.. The oceanic carbon ﬁwm&.o__..oo:w_zﬁmm
A) 49%
.m.__u 71%
C) 50%

D) 79%

10: T & e fark syreRifen wfere @ 7
A) BT, TEHRE, FATFT
B) WA, TS, i

C) TRFEE, FFgalied, FwRn
D) Taferdisr, weiten, faffera

11. Fr=RiRas 7 @ fra wg &t e
At R 7

A) TeeT
B) s
" C) Fah

i

D) 3WE=

12. W FEA TANE TH TR |
A) 49%
B) 71% $

C) 50%

D) 79%
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- 13. More recombinants types are formed
when

A) the genes are located very near to
another on chromosome

B) the genes located far away from
one another on chromosome

C) the crossing over is very less

D) the genes are located only on

Y-chromosome

14. Identify the correct combination showing
the blood group with their respective
antigens (sugar), m:z_uc% genotype
and special character.

Blood Antigen Antibody Genotype Special

Group present/ Character
Sugar
A A B b IA B Most
common
type
B) B A a BB Found only
in India,

C) AB AorB none JAIB Co-

dominance
D) O Neither Botha 1910 ynjversal
AnorB andb donor

13. 3w q-waS TR 97 & oo
A) 3 FeiEm § & T ¥ e R R
B) 7 shmem &t T ¥ | R @
C) i it %a e B

D) s Y-Fmsn § Rmdar

14. T Qg W1 37 Heitom foom, (et
SfHiergy 3R fordty =fE & wo Raw sm
I FAH Y U5 |

@A wfiom Wit Reeny  Ruw

=
——

Page No. mf_

g Udie/IEEw ufE
A) A B b A1B R
: qHHg
U
B) B A a IBIB e v
A freraman
C) AB AorB FRTET A wiverfrm
D) O AMT& a 010 wrhitfirs
Byi=dt 4T h : G|
S5CEB

[6]

Visit CollegeDe



https://www.collegedekho.com/?utm_source=resource&utm_medium=footer&utm_campaign=hyperlink

-I| _ — =

5. ._n_m_..ﬁﬁ._.._m mis-matched one.
A) CUU = Leucine
B). GGU - Glycine
C) GCU - Alanine

D) GAA — Valine

6. Which of the following is not-a sexually
transmitted disease ?

A) Acquired immune - deficiency
syndrome

B) Trichomiasis
C) Syphilis

D) Tetanus

17. In'the womb of the mother the first heart
sound of the foetus can be heard by

Stethoscope at

Fia

A) First month of pregnancy
€) Fifthmonth of pregnancy

)i Sixth:month of pregnancy

15. 3 & o0 & I |
A) CUU - Leucine
B) GGU - Glycine
C) GCU — Alanine

D) GAA — Valine

a..ﬁﬂﬂ%iiﬂﬂ
A) ERE TR e g
B) ehrRnidE
C) fufsiam
D) ¢1g

17. af & 7 § U & g9 F Tl J@TS

THERIT G e G} 1 Fehell 8 7
A) TiEE ¥ UEd HER

B) mfaeen & fi@ ada 7 -
C) miaEan & gied HER

D) TvieEer & B¢ WER
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18. Read the statements and identify the
right option.

Statement|: Mild foetal ejection

reflex is induced by

placenta.

Statement |l: Foetal ejection reflex
triggers the release of
oxytocin from the

. ovary.

A) Statement|and Il are correct
B) Statement | and |l are incorrect

C) Statement | is correct and |l is
incorrect

D) Statement | is incorrect and Il is
correct

19. Identify the incorrect statement
pertaining to contraceptives from the
following. .

A) Most widely accepted methods of
contraception in India is Intra
uterine devices

B) Surgical intervention blocks
gamete transport and thereby
prevent conception

C) Pilis inhibit ovulation and
implantation as well as alter the
quality of cervical mucus and
retard the entry of sperms

D) IUDs are useful only before the
coitus

18. YA} P Te, TEt fwer T

AT TH YU H S @
e g e o s 21

FUTIl ;YO S SO Wik SeRE
¥ s H fed # o

&l 8
A) e | T 1 s 3
B) e law ll Tea ¥
C) =eA | wel, %y |l Tera 8

D) %A | e, YA 1 | R

19, Fraffas § & mifRvs dadh 97 @ e
TR ? .

A) 3R THIEETAT YT ARG |
i & 9 9 S 8
YT AT §

B) qfaew qut THET &t A & 7
T ST TG F 8

C) et Riireastt s s & Ar-

gy iy e & senTd Y TorEE i
wee et & S gt o wa o et 8

D) IUD ¥eamE @ oo & Iwgad g @

SCEB
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20. The regression co-efficient for 20, faftr AeTEiat F Swmfestia st o wies B
frugivorous birds lin tropical forests of it % e wferme onie @ .
different continents is
: A) 01
A) 0:1 :
B) 1.6
B) 15 )
C) 1.15 %) Talid
D) 1.75 D) 1.75
21. Match the following : :
Column I Column/ll 21- g o R
a. Gause p. Resource w9 il
partitioning a. T3 p. SOTEA faveE
b. Connell g. Exclusion b. TR q. sfEsr R ;
5 principle _ o H
c.. Mac Arthur r: Competitive & ¥ .
release d. SEisE-gs s. TR gfg T |
d. Verhaust-Pearl s. Logistic growth A) a-q, b-p,c-s, d-r _*_
curve |

B) a-r, b-p,c-s,d-q
A) a-q, b-p,c-s, d-r c . i

a-q, b-r, C-p, a-5
B) a-r, b-p, ¢-s, d-q )ad P

C) a-q, b-r, c-p, d-s D)fa:r;b-s,c.q.0:p

D) a-r, b-s, c-q, d-p! . !
®) WL 22, TEi-dHe fogia saran & f6 vt Hi
22. The Hardy-Weinberg principle explains 9% &

thatithe speciation is. dueito
A) TS e
A) Morphological changes

B) Chroemosomal changes B) HIHSHTAS dead
C) Gene :Ecm:& changes C) StH g seena
D) Acquired characters : D) ﬁ@uﬁmm&
Tmum No. 11 g SCEE
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23. Multiple alleles are characterized by

~ A) more than two alternate forms of
genes found at different loci

B) more than two alternate forms of
genes found on same loci

C) one gene occurs in
chromosomes

D) none of these

24. Which of the following is a mis-matching
pair of the disease and medicine ?

A) Emphysema - |-antitrypsin
B) Cancer - Alpha interferon
C) Blood clot — Streptokinase

D) AIDS — Penicillin

25. ldentify the right pair of the extinct animal
with their country.

Animal Country
A) Dodo Russia
B) Thylacine - Australia
C) Quagga Mauritius
9 mﬂm__mq-mmm Cow Africa

two

G T

23. wgvrlt TiTel % W 39 YR war S
T §
A) fafim ot o o siare 2 S ot
e SR

B) W € wht # u1g sre & & aiftes
EEaie i

Qﬁ%&%mﬂa%
D) 378 & I e

24, T8 & A A o ARy o AR ?

A) areifa — | A
B) Gt — 3% 20
C) G 1 95 — WRld
D) AIDS - ¥f=efi

25. fregear ST e 3 i w1 WA N 1 o)

wfer L
A) €St (31
B) engeniee , smeefern
C) == orifRrEs
D) ReeR ¥z MY S|
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DR GO

5. The restriction site recognized by
enzyme EcoRl is

'A) CCGGGC
B) CTGCAC
C) GAATTC
D) AAGCTT

7. Which one of the following is not
" correctly matched ?

A) Dengue >mn_mm. mosquito
B) Malaria Female Anopheles
C) Amoebiasis Houseflies

D) Ringworm  Droplets

-

8. E:mo: of the following enzymes is not
produced by E.coli during lactose
catabolism ?

. A) p-galactosidase
B) Galactoside transacetylase
C) Carbonic anhydrase
D) Lactose permease
29, According to HGP, the longest gene
consists;of
A) 3, 164, 7 million base pairs
B) 3000 base nm..:m
9 2968 base pairs
D) 2.4 million base pairs

26. USEH EcoR! T Te=F T YR 8 3

A) CCGGGC
B) CTGCAC
C) GAATTC

D) AAGCTT

27. T e daem gt A€ R 7
A) 3 T TeHt
B) wafan HTET TRkl

c) swtfrnfm  wiweat
D) TE Ccil

og. et I ¥ HA T USEH 1 T 3. Fell F
T AT FYHIAR F QA T8I fw

T™E ?

A) p-eiREw

B) feeide geddeRa
C) Frlifis TR
D) TG WA

29, HGP ¥ 1@ W@ &a (9 § a9 SIS

: R
A) 3, 164, 7 Riferm
B) 3000

C) 2968
D) 2.4 fuferm

) T.mum_ No. $|_
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30. In Mung bean, resistance to yellow
mosaic virus and powdery mildew were
induced and developed by

A) Mutation breeding

B) Hybridization

C) Polyploidy breeding

D) Recombinant DNA technology
method

31. Capacity of a plant cell to give rise to
whole plant body is known as
A} Reproduction
B) Budding
C) Totipotency
D) Regeneration

32. A population has more than 50% in post
* reproductive age group; according to
you such population is
A) stable
B) declining
C) increasing
D) showing biotic potential

33. ADA deficiency can be permanently
cured by

A) Bone marrow transplantation
) during infancy
B) Enzyme replacement therapy at
the age of five
C) The infusion of genetically
engineered lymphocytes

D) The introduction of the ADA-
producing gene into the
embryonic stem cells

(MR

30. T el #, i st arrw ok ot fieey
F wiedg N T S sk
TeRm fFm e |
A) IeafEda woee

B) Hemeur
C) vicieise! o
D) A: T Shean e ffy

31. T T 1 T S wquf Y ) o 3

4 wnef g1 39 ed §)
A) WS

B) &ifda

C) 2feur=h

D) gk

32, UF ATt % 50% whive & S ST ¥
W I T F R; MIH IFIER 39 TER
1 ST R

A) fér

B) genare

C) et

D) Sifees & =t Rerawt

33. ADA it =71 Tt 35 g0 WIEE ¥9 &

3 o S TR R

A) =9 T T % TR % T

B) uiw & Y 37 # wremen whyeam
Taferear g

C) gaiies w9 F Sefifa Riwrarest
T THE

D) ADA- 3@ i Y yor °
iR # T w6

D Tumum No. 14
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i4. Restriction endonuclease breaks bond
between the

A) Base pairs of DNA molecule

B). Sugar-phosphate backbone of
nueleic acid

C) Exons.and introns in cistron

D) N-glycosidic bond between sugar
.and base

}5. Select the wrong statement.
A) Our present day crop plants are
entirely different from their wild
ancestors

B) >_3oﬂ all our u_,mmm:_ day crops
‘are the result of selections carried
out by the prehistoric human beings

C) Seéeds and plant samples of only
genetically superior and cultivated
species are introduced from one
country to another

D) Genetic diversity of our crop plants
must be conserved

wm,. rDNA is produced by joining
A) one mRNA with.a DNA segment
B) .one mRNA with plasmid DNA
C) two RNA molecules

= D) one mRNA with a polypeptide _

34, yftes ToERfes % o= s
FL L A T
A) DNA 9] % 3TaR 1S
B) =fFas e 6t SHi-wiehe {g i
GE ]
C) fregm # wd ofit S5

D) i 9o §8 § T -wiates qu

35, = ¥ Tera A g |
A) TR FEHE AT % wee & 08 3T
STt e @ e ST
muﬂﬁgﬁw%iwﬂm

%@Eﬁ%ﬁd%iiﬂ
afomm & :

" C) ¥aw gaii €9 § A% 3R o A

L RETe SetET & i 3 9 & T
T T °Y W T 3 uRfaa
a1 &

D) &9 wHa M} f1 Yga fAfegm
=\ wifira e s SRy

36. frien! Sirey & rDNA JeaTiea gran & 7
A) T mRNA % 919 U DNA iz
B) T&% mRNA & amg wifeie DNA
C).21 RNA Hieieed
D) @ mRNA ¥ #T9 T& TrefiieEs

) ﬁ Page No. 15
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37. Plasmid is a

A) extra chromosomal, self replicating,
double stranded, linear DNA of
bacteria

B) chromosomal, self replicating
double stranded, circular DNA of
bacteria

C) extra nuclear, self replicating,
double stranded, circular DNA of
bacteria

D) nuclear, self replicating, double
stranded, circular DNA of bacteria

38. Find out correct statement about Bt toxin
A) Bttoxin exists as an active compound
in the Bacillus .
B) Bttoxin is produced by cotton plant
to kill pest

C) The activated toxin enters into
ovaries of the pest and the pest
killed

D) The inactivated prototoxin gets
converted into active form in the
insect gut and kills the insect

39. Elution means

A) cutting and extraction of DNA
bands from the agarose gel

B) separation of DNA fragments on
agarose gel

C) making the DNA fragments visible
when exposed to UV light

D) isolating a desired gene from DNA
of an organism

37. wnferE

A) ﬂ@ﬂﬁ&&ﬁdﬁagwﬂ
WL, araifEn w1 s DNA
B) Wi, T YerhfeT, e ke,

SIRIEN T TMearsr DNA
C) it =feerr, @ Weersfen, T
I, TRAET =1 Memsr DNA

D) =i, wd WRemfen, v wite,
SYTFRITET T TRt DNA

38. Bt 2R & fomm & @t um )

A) Bt e frmelie e & s Om
Fie ¥ war 2

B) Bt ZfRM FU@ F Wi g 1) =t
AT 3 fore searfed e s 2

C) iz = siewm # e 2R vawr
Fal ® AR e ar wrar 2

D) fmmfga NdeifRm frneie o
% ¥9 # Teet FC He F ariq o 7w
I 8 )

39. &Ter 1 waes &
A) IR I ¥ DNA 378 &1 Fie1 a1
Frewdw e
B) *TRI@ St & I DNA & g&wel #
fame e
C) UV foli § DNA % g s M1 T
TR
D) Sfia # DNA T T aifsa s 5

HAT AT
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T
0. One of the following supports declining 40. FEHREe 3 & T AT 3 fiRTae ) sreean g
phase of a population : 1 FAY R |
A) Mortality > natality= - A) TR > S
B) Natality > mortality B) SR > HeI
C) Mortality = natality C) I =
D) Natality — mortality = 0
D) S e — Jegel = 0

1. Zoospore is a

41, = = (Ser) T
A) haploid non flagellated spores

A) 3O STEREITETE SfET
B) haploid flagellated maie gametes : ;
: 9 B) I YTHTa R e
C) haploid female gamete
. C) smfir Awt g :
D) haploid flagellated spore :
: D) 3rfora s Sfany

2. The list of agents of pollination and the :
pibialo 42, T 3 SRR ae T T e

AF Tedl & gt A A R | A

technical words used to describe the

pollination are given.below. Identify the

correct pair. sirgT g |
A) Malacophilly Pollination by snails A) HeTRIfelt ek AT
B) Entomophilly Pollination by birds B) Wrifeelt - vt ._
C) Ornithophilly ‘Pollination by winds C) fieifeft oy Ty
D)’ Anemophilly - Pollination by animals | D) whwifeett s
:Vtmum .,zo_. 17 g 5CEB
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43. Which of the statements is ooamo,ﬂ ?

A) cleistogamous flowers always
exhibits autogamy

B) chasmogamous flowers always
exhibit geitonogamy

C) cleistogamous flowers exhibit both
autogamy and geitonogamy.

D) chasmogamous flowers never
exhibit autogamy

44. One of the ex situ construction methods
for endangered species is

A) Wild life sanctuaries
B) Biosphere reserves
C) Cryopreservation

D) National park

45, IUCN stands for

A) International Union for Nature and
Natural Resources

B) International Union for
Conservation of Nature and
Natural Resources :

C) International Union for
Conservation of Natural
Resources

D) International Union for
Conservation of Nature .

43. T AT M AR A R 7
A) AT G W1 T i B
Tifa &
B) I=ter it wer ARl =y ewir €

C) T2 Je TaT Wi aut
vt r gria §

D) 3=ier wrmoft Feft oft wamifirar
& =i

“ T v 35 R, o ity i i 2
A) TSGR0
B) 99 #ed WeR
C) wfedem |
D) T S

45. IUCN =1 waei §

A) $TEIEFY AT B IR e A
it

B) ST i B il T 37T T
T e feda

C) FeWiTHa R B Hradym 3T
e feda

D) Sewierel IR TR HE
EE
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46. One of the agricultural practices of 46. i Tereht aypaii i woRE T dor afF m
breeding and raising livestock is I FEd 8 7
called
A) wgrfafee fam
A) Veterinary science
B) TieTen S
B) Dairy farm management
SR C) 9N WA
C) Cross breeding
D) Animal husbandry D) ftr i

7. Mule is a cross breed obtained by 47. ﬁﬁ@mﬂﬂﬂﬂwhﬂmm.ﬁé_@mﬂm

crossing

A) e 3R AT Sfisn
A) male horse and female zebra .
B) T &R Tver Sfisn
B) male donkey and female zebra ,
nh C) wirgt 3R el
C) male horse and female donkey

D). male donkey and female horse

D) T st A

48. Y 9EA F Hel Ht aad Rd o S aEe

18. Identify two rice varieties used to

develop semi dwarf variety of rice Ll L

; 3 IR-8 and ._.m.n_._cza. native-1 A) IR-8 3 &g Afea-1

B) Sonalika and Kalyan Sona B) Gwferent 3R e m?_._.

C) Jaya m:n.mmﬂzw C) s ﬂﬁ T

D) _Amqw_d Sona and ._m"wm D) ey i 3R
Apgmardmg T 5CEB
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49. Which one of the statements regarding
asexual reproduction is false ?

A) Offsprings are similar to their
parents

B) Reduction division takes place
during asexual reproduction

C) Offspring do not show variation

D) Zygote formation does not take
place

50. Match the Column | with Column Il and
select the correct option from the choice

below :
: Column | Columnli
a. Polyembryony i. Commelina
b. Dioecious ii. Grass

c. Cleistogamous iii. Date palm

d. Apomixis iv. Citrus
a | b ¢ d

A) (i) (i) @ (i)

B) (v) (i) @) ()

C) (i) ) (v) (i)

D) (i) (v) () (i)

49, TH { H 91 I 3 SoE & AR
wLE?
A) Gafa arar-fian S 8t &

B) a7ifies Wema & SN e T
BT ]

C) wafer # % weh 7t g
D) st 13T e B

50. T | T || F Have T g adt formen

wul wall
a. el i. IR
b. sENfREw ii. 9™
c. Tt i, @SR
d. MR iv. Rga
a b ¢ d
A) (v) (i) () (i)
B) (v) (i} (i) ()
C) (i) () (v) (i)
- D) (i) (v) () (i)
5CEB
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